WOHNUNGEN
DACHGESCHOSS

N

METER

Wohnung Nr. 13, 3 Zi

Wohnung Nr. 14, 3 Zi
r 114 m2 (incl. 1/2 Dachterrasse)

142 m2 (incl. 1/2 Dachterrasse) T

laubengang
7 = | S| | [ | S S | S |
. A A | A | % A |2 ZI r 7 12
7/
Z ] % ]
= 7 ) I -
NI V 8,76
Z S X vt O
/ NGF: 2,26 n[] zimmer = NGF: 23+ ) I
T v +8,76 diele zimmer %R
D v +8,49 D <876 v +8,76
4 NGF: 1,61 m? v+8,49 T
bad & NGF: 9.74 7 NGF: 14,79 m
diele bad ’—
D v 48,76 L STEvE > v +8,76 -
o v +849 o V849
NGF: 13,38 m? Necloe v 876 e
¥4 v +8,49
|:| :Lj NP oHm F
——0
Z \ dusche H
kiiche/essen/wohnen speis H:| I:H
v +8,76 . . v +8,76
v +8,49 ankleide ankleide v+8,49 D
H:| I:H NGF: _ 50,71m? NGF: 2,00 m? H:| I:H
Z
H:| I:H J l: kiiche/essen/wohnen
= v +8,76
- v +849
L 1 f j NGF: 46,67 m?
hlafen
(0] Vv +8,76 sc [0}
O 5 v +8,49 v +8,76 5 O
S NGF: 19,46 m? v +849 =
Q - NGF: 22,23 m? = Q
48,88
i H7n
= . g L = f= =
[ | [ |




